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Correlations
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Correlation of each channel to mean of 8 channels
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Correlation between each channel and
averaged value of 7 other channels
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Blue — pedestal RMS
Red — Pedestal — averaged value of each 7
channels values for each sample.
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Method
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1. 10000 triggers for pedestal
calculation for each sample

2. After 10000 - calculation for each
sample averaged value of each 8
channels — CMN

3. Subtraction for each sample
pedestal and CMN - Fill histogram

4. RMS of each channel histogram
shown as Red color
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Plot signal pulseyin DUT [ FO_B
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Blue — pedestal RMS

Red — Pedestal — averaged value of
each 8 channels values for each
sample.

Novgorodova| TB2011 Analysis | 05.03.2012 | Page 4

-
S




